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= 2,167,933
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= 1,125,789
o= 305,657
Al 3,176,895
INR:PNEEIE=-DNEF 3,415,104 4,071,167 A 656,063
= 1,100,700
o 241,288
Al 2,073,116
A3 =2 X2 22| 1,532,078 1,889, 138 A 357,060
=} 28,896
Al 1,503,182
301 et A= 10,290 7,350 2,940
0B AISIE22IIZ A= 10,290 7,350 2,940
OAME XS BLI2LLI SAH|
6,000 x20 x7H x 128 10,080
OAME 22X BLI2LLR MllEE S
30,000 x7H 210
307 QI2t0| ™ 1,381,788 1,381,788 0
& 28,896
Al 1,352,892
05 QIZtREZ 1,345,668 1,345,668 0
OSZANZSEASEXNS 29|
793,060,000 x 1Al 793,060
OMNSETEAISXS 2EH|
308,503,000 1Al 308,503
OxelAMI =X 2 &9 244 105,000 = 1Al 244 105
10 M SAANEEHESIGHEX 36,120 36,120 0]
OAlEI 2 X2 AR EEE(30Y)
36, 120,000 = 1Al 36,120
= 28,896
Al 7,224
401 AlEHIZL 2 0HY| 140,000 500,000 A 360,000
01 Al&H| 140,000 500,000 A 360,000
ONSEEA=SA2 dedole €3 BIJtHd
X BA 5,000,000 =14l 5,000
Qa2 222 T2 )aA S (FOEH Al A
) 35,000,000& = 14! 35,000
OZ230IE HE A (=CIE 0 a)
100,000,000 =14l 100,000
FOIHHIAS A 1,472,856 1,794,654 AN 321,798
= 1,024,000
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 273,314
201 L2l 2,143 1,428 715
= 1,500
< 257
Al 386
01 At 2t 2l 2,143 1,428 715
OXNGAS MHIA EX AFYE 2|
2,143,000 = 14 2,143
= 1,500
= 257
Al 386
301 LEtE A= 311,428 0 311,428
= 218,000
< 37,371
Al 56,057
01 A3l EE E 563 311,428 0 311,428
OJtAIZtY 212 S 0IAMY (1129)
311,428,000 » 14! 311,428
= 218,000
< 37,371
Al 56,057
307 eIzl & 1,159,285 1,793,226 A 633,941
= 804,500
< 137,914
Al 216,871
02 QIZtE M AHE X 10,000 0 10,000
OHMI172 At2I=X2 & JIEA =&
10,000, 000& 14! 10,000
05 RIZHRIEt 3 1,149,285 1,793,226 A 643,941
OXSASIAdEI A S XA EI (B X 1300 AF
1,149,285,000& 14 1,149,285
= 804,500
< 137,914
Al 206,871
AZIEXAIE H=EU3 X2 10,000 7,000 3,000
307 glz2tol & 10,000 7,000 3,000
11T AISI S XA E = 10,000 7,000 3,000
OAZIEXIAIE HE MK K&
10,000, 000& 14! 10,000
OBl At 3,490 3,730 A 240
201 £B-2dH| 240 480 A 240
02 3323l 240 480 A 240
O3 & HA 240
— M= HSSTFEANLAEHLISAURB
20,0002 1201 & 240
206 M= Hl 3,250 3,250 0
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OgBt4=2H| 1,700
— XA 22X HXE I L2t
10,0003 *1008 1,000
—XNGAS=2XNAHEFTE K3 2ZHAHY
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— XA 22X EMSE 3o 8,820
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01 Al B & A 462 50,000 50,000 0
oY & =82 HJAES A2(2,8009H)
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01 AP 22| d| 1,120 0 1,120
OAZIEX A XNIEE2S 3YEFAL ¢
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11T AISIEXAIEEX 35,700 35,700 0
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33,000,000 x 14! 33,000
OMEEXAILE HEs 29 X
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307 2Iz2t0| A 135,000 118,125 16,875
05 QIZ2tREF 2 135,000 118,125 16,875
O=2%E XMy 29 BX 135,000,000 x14A! 135,000
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Oged=XYgS =24 23 28 s +¢
300,000& x93l 2,700
= 1,350
< 405
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SN ALSI S X
g NS AMtel=X Jlgt =4
ool BRAUAY =X (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
Hed= 2 (250W) 13,5002 * 104 135
HegEI(18eE8) 7+
15,500 *5H 78
& S(Agz) 2 220,000& *54 1,100
—HE32 ¥ FHIEEY BH= 2
70,0003 60 x2J4 2~ 840
~EHEZ ITZ2 YHAE 7
70,000& x123] 840
401 Al HI X 2018 15,000 0 15,000
01 A& HI 15,000 0 15,000
OESAE HES 15,000, 000& 14! 15,000
2232 HEy Fa 200,000 652,245 N 452,245
401 Al HIZ 201 I 200,000 652,245 AN 452,245
01 A& HI 200,000 652,245 N 452,245
OSXLEE3 & A 200,000,000 =14 200,000
H2SAH 29 2435t 120,705 122,590 A 1,885
= 25,089
< 12,169
Al 83,447
ANASAR BEZ2(3H) K& 8,958 10,224 A 1,266
= 4,479
Al 4,479
201 L2l 8,958 10,224 AN 1,266
= 4,479
Al 4,479
01 At 22l 8,958 10,224 A 1,266
Oget=EH| 8,958
— NASAMX B (BH)E 8,958,000 *14] 8,958
- 4,479
Al 4,479
NHEASAH 2OUOIEH K& 47,001 45,087 1,914
= 20,610
Al 26,391
101 124 dl 47,001 45,087 1,914
= 20,610
Al 26,391
04 JI2ZHHZ2XEE+ 47,001 45,087 1,914
OXNASAF DCOUIOIH XI&AL(2H) 47,001
- 41,220,000& =14 41,220
= 20,610
Al 20,610
—4EE= 3,222,000 x 14 3,222
— &&= 2,559,000 » 14! 2,559
5-18 X K& 2,400 2,400 0




AN ALEI =X
3 NSA =X I8t =4

el NEEMN 28 243 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
== 2,400
206 M= Hl 840 840 0
< 840
01 =8l 840 840 0
O5.18JIAME R0l 2= Hl 420,000 =2AI TH 840
= 840
301 et a3z 1,560 1,560 0
< 1,560
09 AL HIZB &S 1,560 1,560 0
O5. 18NSR0l 2 T SAML =AM
360,000 » 14! 360
< 360
O5. 18U ELFE0 2g (1) 1,200, 000& 14 1,200
= 1,200
HHSA 243 X& 56,406 59,372 A 2,966
= 6,799
Al 49,607
201 £B-2dH| 16,635 16,701 A 66
= 957
Al 15,678
01 At 22l 5,675 4,741 934
Oget=gH| 5,675
— SAJ |X2c 350,000& x1CH*13 350
— T2 E JtESX FY 237,000 x10H »23 474
—ZAESI EUFS 110,000 =101 »23] 220
— SAEX 20,0003 3 A %128 720
— 288 2= M 400% 1,000 400
—NASMAE HH 3,000& 1004 300
—EODIUN ABA U7
5,0002! * 1007 500
— 24+ NASAR HEDH 2
50,000& 204 1,000
—Zz0Y 29| 1,711,000& 14 1,711
< 957
Al 754
02 2324l 1,800 1,800 0
Oz22= & HA 1,800
—YtteEz 2503 x2002H x12& 600
— dBESRSE 50,0003 +2CH 123 1,200
03 A2 Z Hl 9,160 10, 160 A1,000
N SAR Bs ZA=EY 2,160
—2ME0I2) 70,0003 1«24 3| 1,680
— wEHl - =4l 20,0003 »1H »243] 480
OXNESALAL K35 M 3,000,000& »14 3,000
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3 NSA =X I8t =4
&S UHESA 2E #4358

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Ou=s2ex) dAF s Setol3aeld
510& 5,490 & 2,800
Oun=sga=) gdA I AXNZ(BMHER)
100,000& *123] 1,200
206 M= Hl 27,122 27,122 0
< 5,842
Al 21,280
01 =8l 27,122 27,122 0
OL-%3H0 MBIA THZ U6l (20AICH)
2,922,000 » 14 2,922
S 1,242
Al 1,680
OSAL JIAFZ= 201 MZ Bl (50AICH)
13,000, 000& 14 13,000
= 4,600
Al 8,400
OAMES s 2HLY) M7
2,700,000& » 14! 2,700
OAMES 2AZELIs M= 4,500,000 %14 4,500
ONESAEH &3 M= Hl 1,000
~ 428 PY(BY, YW 25 5)
1,000, 000& 14 1,000
ONsSA ZZ20 g P2
3,000,000& =14 3,000
301 et a3 12,649 14,049 A 1,400
09 SALAHIE &S 12,649 14,049 A 1,400
OXESALA Z Al 7,000& *x500H 3,500
OXN&SAHA &4l 10,000& 500 5,000
OAMES s 24)| NEESAX s
10,000& 15 10 1,500
OXNESAtUE & &g, /3s A ol
88,300& x30H 2,649
Asg, JIsg NESAMEH X 5,940 5,507 433
< 2,970
Al 2,970
206 = Hl 5,940 5,507 433
< 2,970
Al 2,970
01 MHZ 4l 5,940 5,507 433
OSN3 SAEN &3 MEZHl
5,940,000& » 14! 5,940
< 2,970
Al 2,970
IO ZMESEO WA S 27,263,047 27,639,439 A 376,392
= 24,352,370
< 1,862,276
Al 1,048,401




A AMIEX
MM ZO)|ZMEHEO fA S
CHR: 20| ZMEYEAAIS (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
S0 XMEHEAAIS 26,428,631 26,960,543 A531,912
= 23,746,267
& 1,786,513
Al 895,851
AUANAHES 20X 3 313,773 296,345 17,428
= 251,019
= 31,377
Al 31,377
301 LBt A= 313,773 296,345 17,428
= 251,019
= 31,377
Al 31,377
01 AISIE & A 452 313,773 296,345 17,428
OXNMNAHS LSO X2 (14,000 )
26,147, 7502 x 1200 & 313,773
= 251,019
= 31,377
Al 31,377
INxzx32 X 223 SOXJAY 929,217 929,217 0
= 929,217
301 et A= 929,217 929,217 0
= 929,217
01 Al E& A %52 929,217 929,217 0
OJlx=4=Sx HEU2 S0l & A (39,200 )
77,434, 7503 x12& 929,217
= 929,217
P = PN = X 68,377 63,031 5,346
201 et 8,445 8,445 0
02 2324 4| 8,445 8,445 0
03323 %2 HA 8,445
— =)= X BEZHE SX ¥ sAKE
Ot R2ER3 300 x7,037H x4 3| 8,445
202 o4l 8,524 3,178 5,346
01 2L HI 8,524 3,178 5,346
O=20)|= Al WsEA 2204
225,600 x5 33| 3,384
OUEXH UFSEHZ2H NEANEY
51,400& x50 x23| 5,140
301 LBt A= 51,408 51,408 0
01 AR E & A %62 51,408 51,408 0
OJIZMH£=2X & A=230 1SUHAX =
H 25 220104 ) 2102 900 *6,800H 4= D| 51,408
MA= ™ 24,835,339 24,224,016 611,323
= 22,351,805
o 1,738,474
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M J0IZMEEH A F
ol RO EMESHA (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 745,060
301 LEtE A= 24,835,339 24,224,016 611,323
= 22,351,805
< 1,738,474
Al 745,060
01 A3l EE E 56l 3 24,835,339 24,224,016 611,323
OJI=MAS04(5,270AHICH)
24,835,339,000& *14 24,835,339
= 22,351,805
< 1,738,474
Al 745,060
== 43,896 1,239,402 A 1,195,506
308 XXM S0 A 43,896 0 43,896
08 wEJ|20stE X 43,896 0 43,896
Ou=E=0(2,700%) 43,896,000 =14 43,896
ol & E RIS 238,029 208,532 29,497
= 214,226
< 16,662
Al 7,141
301 L2 A S 238,029 208,532 29,497
= 214,226
< 16,662
Al 7,141
01 MEIBEZE 053 238,029 208,532 29,497
OBl AFE T 20 (4809) 238,029,000 » 14! 238,029
= 214,226
< 16,662
Al 7,141
S = HEEFH ALY 834,416 678,896 155,520
=2 606,103
< 75,763
Al 152,550
JI=ME k& 76,787 73,216 3,571
201 Let24d] 13,772 12,332 1,440
01 At 22l 11,180 9,740 1,440
OF2AMHlIA SECHHAM ME
1,000& *3,300% 3,300
O+t 7,880
—SNUAR AHMA 22
20 *12,0000 x 125 2,880
—SE=XNEAL EE2 MZE 500 *10,0000H 5,000
02 =224l 2,592 2,592 0
O3323ZLAA 2,592
— MR fEHEEZ= 2,700 x80x12& 2,592
202 oddl 63,015 60,884 2,131




SN ALSI S X
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el RO FMEBLEAY CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 63,015 60,884 2,131
O=3UWoHI 63,015
— MNISIAMY NBANY WSEA(ZAH)
225,600 x5 X x43] 4,512
— SXUHAX SIZA WSEAM(22H)
225,600 x2H »23] 903
—SNHAT ZAHSR =& 2HHH|
20,000 *20H x 123 x12& 57,600
==X 757,629 605,680 151,949
= 606,103
< 75,763
Al 75,763
301 L2 A F 757,629 605,680 151,949
= 606,103
< 75,763
Al 75,763
01 MEIBEE 263 757,629 605,680 151,949
O ==X X2 A (600Y)
757,629,000 » 14! 757,629
= 606,103
< 75,763
Al 75,763
HRES (A= X1 3,235,115 3,137,033 98,082
HEHAHXE(ASZASELESH B&E2) 3,235,115 3,137,033 98,082
ZESMIEESH NA E&EZ3 3,235,115 3,137,033 98,082
701 JIEtSI HSEES 3,235,115 3,137,033 98,082
01 JIEtel HE == 3,235,115 3,137,033 98,082
O2A= S ALY SE3H NJANES
3,235,115,000& 14! 3,235,115
A 2L (AL =S X1t 99,716 91,565 8,151
Jl2Z I (Asl = Xl 1) 99,716 91,565 8,151
Jl2del(Atsl s X 1) 99,716 91,565 8,151
201 Let24dy| 48,033 40,304 7,729
01 AP 2teltl 48,033 40,304 7,729
Ogt==&H| 21,825
—Jlg AR EEH| 100,000& *39H 3,900
—2AMI RAB2L(EH £ S#2LH S)
480,000 »2CH x53] 4,800
—ID2H & #A SAUAA(EUFRLH S)
237,000 »5CH x53] 5,925
—SAMSX 7Y 20,0003 30 A +123 7,200
o=l 26,208
— NESXYREE S04
7,000 «39H 82 <123 26,208
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M HHE2HAH (A =X H)
¢l J23HI (Al S X 1)

SA BB O () - NRAY - HES 0l &+ o4 il
202 4 HI 47,309 46,887
01 = LHA YI 47,309 46,887
OAMSIEX HR=A 2HLHAHI
20,0003 «19H +83| x12& 36,480
OAMEIEX 22 22 Wbl
225,600& x4 123 10,829
203 PR =&l 4,374 4,374
04 EANSIHR2F=EHI 4,374 4,374
O A3l = X1 Bt 405,000 123 *90% 4,374




